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200 nm 

EHT = 20.00 kV 
WD = 8.0 mm 

Signal A = SE2 
Mag = 50.00 KX 

Date: 18 Dec 2013 
Time: 13:43:35 

EHT = 20.00 kV 
WD = 8.0 mm 

Signal A = SE2 
Mag = 50.00 KX 

Date: 18 Dec 2013 
Time: 14:14:32 



100 
 
 
 
 
 
 
 
 

64 

 
 
 
 
 
 
 

 

36 

 
 
 
 
 
 
 
 

 

16 

 
 
 
 
 
 
 
 
 
 

4 

 
 
 
 
 
 
 

 

0 

100 

 
 
 
 
 
 
 
 
 
 
 

64 

 
 
 
 
 
 
 
 
 
 

36 

 
 
 
 
 
 
 
 
 
 

16 

 
 
 
 
 
 
 
 
 
 
 

4 

 
 
 
 
 
 
 
 
 
 
 

0 
10                20                30                40               50                60                70     2[T]    80 

Pe
rc

en
ta

ge
 

Pe
rc

en
ta

ge
 

(a) 

(b) 

10                20                30                40                50                60               70    2[T]     80 





Original     2 days     7 days     14 days     28 days 
Linear (orginal)       Linear (2 days)        Linear (7 days) 
Linear (14 days)      Linear (28 days) 

0                                         50                                      100                                       150                                     200                                      250 

τ (kPa) 

σ 
(k

Pa
) 

300 

 
 
 
 
 

200 

 
 
 
 
 

100 

 
 
 
 
 

0 

1% nanoclay 

1.5% silica 
200 

 
 
 
 
 
 
 
 
 

100 

 
 
 
 
 
 
 
 
 

0 

(a) 

(b) 

σ 
(k

Pa
) 






	361-368_Page_1
	361-368_Page_2
	361-368_Page_3
	361-368_Page_4
	361-368_Page_5
	361-368_Page_6
	361-368_Page_7
	361-368_Page_8

